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QUESTION 1

When defining storage groups for multi-temperature data, storage paths are usually grouped according to their quality of

service characteristics. What are three common quality of service characteristics used?
A. Frequency of access; acceptable access time; volatility of the data.

B. Acceptable access time; redundancy of the data; volatility of the data.

C. TIR (table/index data ratio); frequency of access; volatility of the data;

D. Frequency of access; redundancy of the data; acceptable access time;

Correct Answer: A

QUESTION 2

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with?
A. Data class, work class, and a limit

B. Data class, action class, and a threshold

C. Service subclass, action class, and a limit

D. Service subclass, work class, and a threshold

Correct Answer: D

QUESTION 3

A DBA wants to create a table named SALES that has the following characteristics:

Data for the first half of the year will reside in table space TBSP1; the index for this data will reside in table space

TBSP21.

Data for the second half of the year will reside in table space TBSP2; the index for this data will reside in table space

TBSP22. Which clause must be used with the CREATE TABLE statement to define this table?
A. DISTRIBUTE BY HASH

B. PARTITION BY RANGE

C. ORGANIZE BY DIMENSIONS

D. ORGANIZE BY KEY SEQUENCE

Correct Answer: B
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QUESTION 4

Which table configuration CANNOT utilize multi-temperature storage?

A. A range-partitioned table utilizing multiple table spaces that map to DMS containers.

B. Multiple tables containing the same data at different ages placed into the same table space.
C. Multiple tables containing the same data at different ages placed into separate table spaces.
D. A range-partitioned table utilizing multiple table spaces that map to individual storage groups.

Correct Answer: B

QUESTION 5

What are two supported methods for providing a low latency, high speed interconnect between DB2 members and the
cluster caching facility (CF) in a DB2 pureScale environment? (Choose two.)

A. InfiniBand with RDMA (IB)

B. SCSI RDMA Protocol (SRP)

C. iSCSI Extensions for RDMA (iISER)

D. RDMA over Converged Ethernet (RoCE)

E. Internet Wide Area RDMA Protocol (iWARP)

Correct Answer: AD
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